

جمع ضرایب = ۰ (الف)

$$F(x^3 - 2x^2 + 4x - 1) = 0 \rightarrow x=1$$

$$F(x^3 - 14x + 10) = 0$$

$$(2x-0)(x-2)$$

$$x = \frac{0}{2} \quad x = \frac{2}{2}$$

$D_f = R - \left\{1, \frac{5}{2}, \frac{3}{2}\right\}$

ب) در خروجی جمع ضرایب توان‌های زوج (ب)

$$F(x^3 - 14x + 10) = 0 \rightarrow x=1$$

$$F(x^3 - 14x + 10) = 0$$

$$3x^2 - 14x + 10 = 0$$

$$3x^2 - 14x + 10 = 0$$

$D_f = R - \left\{1, \frac{4}{3}, -\frac{2}{3}\right\}$
 $(2x+1)(3x^2 - 4x - 4)$
 $x=1 \rightarrow (x^2 - 4x - 12)$
 $(x-4)(x+3)$
 $x = \frac{4}{3} \quad x = -\frac{2}{3}$
 $3x^2 - 14x + 10 = 0 \rightarrow x_1 \leq 3 \rightarrow x \leq \frac{3}{2} = 1.5$

$x - \sqrt{3-2x} \neq 0 \rightarrow x \neq \sqrt{3-2x} \rightarrow x^2 + 2 - 2x \rightarrow x^2 + 2x - 2 \neq 0 \rightarrow (x+2)(x-1) \neq 0$
 $x = -2 \quad x = 1$

ب) $y = \frac{x+2}{x-\sqrt{3x-2}} \Rightarrow I \cap II \rightarrow D_f = \left[\frac{1}{3}, +\infty\right) - \{1, 2\}$

$3x-2 \geq 0 \rightarrow 3x \geq 2 \rightarrow x \geq \frac{2}{3}$
 $x^2 - 2x + 2 \neq 0 \rightarrow (x-1)(x-2) \neq 0$
 $x=1 \quad x=2$

الف) $y = \frac{\sin x}{2\cos x - 1} \rightarrow 2\cos x - 1 \neq 0 \rightarrow \cos x \neq \frac{1}{2} \rightarrow x = 60^\circ, 300^\circ$
 $D_f = R - \left\{2k\pi + \frac{\pi}{3}, 2k\pi - \frac{\pi}{3}\right\}$
 $y = \frac{\cos x + 1}{2\sin x + 1} \rightarrow 2\sin x + 1 \neq 0 \rightarrow \sin x \neq -\frac{1}{2} \rightarrow x = 210^\circ, 330^\circ$
 $D_f = R - \left\{2k\pi + \frac{7\pi}{6}, 2k\pi + \frac{11\pi}{6}\right\}$

ج) $y = \frac{\tan x + 2}{\cot x - 1} \rightarrow \cot x - 1 \neq 0 \rightarrow \cot x \neq 1 \rightarrow x = 45^\circ, 225^\circ$
 $\cot = \frac{\cos}{\sin}$
 $D_f = R - \left\{\frac{k\pi}{2}, \frac{k\pi + \pi}{2}\right\}$
 $\cos x \neq 0 \rightarrow x \neq 90^\circ, 270^\circ$
 $\sin x \neq 0 \rightarrow x \neq 0^\circ, 180^\circ$

د) $y = \frac{\sin^2 x + 1}{F \sin^2 x - 2} \rightarrow F \sin^2 x - 2 \neq 0 \rightarrow \sin^2 x \neq \frac{2}{F} \rightarrow \sin x \neq \pm \frac{\sqrt{2}}{F}$
 $D_f = R - \left\{k\pi + \frac{\pi}{4}, k\pi - \frac{\pi}{4}\right\}$

الف) $x^2 - 2x + 9 \geq 0 \rightarrow (x-1)(x-9) \geq 0 \rightarrow x \in (-\infty, 1] \cup [9, +\infty)$

ب) $x^2 - 4x + 5 \geq 0 \rightarrow (x-1)(x-5) \geq 0 \rightarrow x \in (-\infty, 1] \cup [5, +\infty)$

ج) $x^2 + 4x + 5 \geq 0 \rightarrow (x+1)(x+5) \geq 0 \rightarrow x \in (-\infty, -5] \cup [-1, +\infty)$

د) $x^2 - 4x + 4 \leq 0 \rightarrow (x-2)^2 \leq 0 \rightarrow x = 2$

الف) $\frac{x^2-1}{x-1} > 0 \rightarrow \frac{(x-1)(x+1)}{x-1} > 0 \rightarrow x+1 > 0 \rightarrow x > -1$ $D_f = (-1, 1) \cup (1, \infty)$ (6)

ب) $\frac{x^2-1}{x^2-1} > 0 \rightarrow \frac{(x-1)(x+1)}{(x-1)(x+1)} > 0 \rightarrow 1 > 0$ $D_f = (-\infty, -1) \cup (1, \infty)$ (7)

الف) $y = \sqrt{\frac{x^2-1}{x^2-1}} \rightarrow \frac{x^2-1}{x^2-1} > 0 \rightarrow \frac{(x-1)(x+1)}{x^2-1} > 0 \rightarrow x > 1$ $D_f = [1, \infty)$ (8)

$D_f = [1, \infty)$ ✓

ب) $\sqrt{\frac{x^2-1}{x^2-1}} \rightarrow x^2-1 \neq 0 \rightarrow x^2 \neq 1 \rightarrow x \neq \pm 1$
فقط $x \neq \pm 1$ است
 $D_f = \mathbb{R} - \{\pm 1\}$ 5

الف) $y = \log(x^2-1)$ $\frac{x^2-1}{x(x-1)} > 0 \rightarrow \frac{x^2-1}{x(x-1)} > 0 \rightarrow D_f = (-\infty, -1) \cup (1, \infty)$ (9)

ب) $y = \log \frac{14-x^2}{|x|-1}$ $\frac{14-x^2}{|x|-1} > 0 \rightarrow \frac{(4-x)(4+x)}{|x|-1} > 0 \rightarrow \frac{-x^2+4}{|x|-1} > 0 \rightarrow (-4, 4) \cap I$ 10

$|x|-1 > 0 \rightarrow 1 < |x| \rightarrow x > 1$ یا $x < -1 \rightarrow (-\infty, -1) \cup (1, \infty) \cap I$
 $|x|-1 \neq 0 \rightarrow |x| \neq 1 \rightarrow x \neq \pm 1$ III

$I \cap II \cap III \rightarrow D_f = (-4, -1) \cup (1, 4) - \{\pm 1\}$

ج) $y = \log \frac{x^2-1}{1-x}$ $\frac{(x-1)(x+1)}{1-x} > 0 \rightarrow \frac{x^2-1}{1-x} > 0 \rightarrow (x+1) > 0 \rightarrow x > -1$ I
 $1-x > 0 \rightarrow x < 1$ II $\Rightarrow I \cap II \cap III$ $D_f = (-1, 1) - \{1\}$ 15
 $1-x \neq 0 \rightarrow x \neq 1$ III

د) $y = \sqrt{x^2-11x+12} + \log \frac{34-x^2}{x}$ $\frac{34-x^2}{x} > 0 \rightarrow \frac{(4-x)(4+x)}{x} > 0 \rightarrow \frac{-x^2+4}{x} > 0 \rightarrow (-4, 4) \cap II$
 $x > 0$ III

$(x-1)(x-4) > 0 \rightarrow \frac{x}{x-1} > 0 \rightarrow (-\infty, 1) \cup (4, \infty) \cap I$ $I \cap II \cap III \rightarrow D_f = (0, 1) \cup (4, \infty) - \{1\}$ ✓

$y = \frac{x^2-x}{x^2+x} \rightarrow \frac{x(x-1)}{x(x+1)} > 0 \rightarrow \frac{x-1}{x+1} > 0 \rightarrow x > 1$ (10)

x^2-x	+	+	-	-	+
x^2+x	+	+	-	-	+
	+	+	-	-	+

$y = \sqrt{\frac{x-f(x)}{f(x)}} \rightarrow \frac{x-f(x)}{f(x)} > 0$
 $x-f(x) = 0$
 $x = f(x) \rightarrow x = 1, f(x) = 0 \rightarrow x = 2, 2$

$D_f = (-1, 2) \cup (2, 3)$ 25

